Algebra Review (Extra Credit for Ch. 1-5)
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CL 1-83. Use the Order of Operations to simplify the following expressions:
-32						24 * ÷ −10




CL 1-87. Solve the equation.  Check your solution.
4x − 1 = 9x − 1 − 5x




CL 2-104. Shirley starts with $85 in the bank and saves $16 every 2 months.  Write an equation for the balance of Shirley’s bank account. 




CL 2-109.  Find the slope of the line that passes through the points (−5, 7) and (10, 1).




CL 3-113. Two brothers, Martin and Horace, are in their backyard.  Horace is taking down a brick wall on one side of the yard while Martin is building a brick wall on the other side.  Martin lays 2 bricks every minute.  Meanwhile, Horace takes down 3 bricks each minute from his wall.  They both start working at the same time.  It takes Horace 55 minutes to finish tearing down his wall. 
1. How many bricks were originally in the wall that Horace started tearing down?
2. Represent this situation with equations, tables, and a graph.
3. When did the two walls have the same number of bricks?
CL 3-116.  Solve for X:   (x − 1)(x + 7) = (x + 1)(x − 3)



CL 3-117. Solve for Y:   6x + 3y = 4x − 2y + 8



CL 3-121.  Using your knowledge of exponents, rewrite each expression below so that there are no negative exponents or parentheses remaining.
(s4tu2)(s7t−1)



CL 4-116. Solve this system of equations: Y = 3x + 2 and 6x - 2y = 8




CL 4-119. Bob climbed down a ladder from his roof, while Roy climbed up another ladder next to him.  Each ladder had 30 rungs.  Their friend Jill recorded the following information about Bob and Roy:  
· Bob went down 2 rungs every second. 
· Roy went up 1 rung every second. 
· At some point, Bob and Roy were at the same height.  Which rung were they on?



CL 4-120. Solve for x.  
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CL 4-124. Write the answer in scientific notation.
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CL 5-127. Solve each equation after first rewriting it in a simpler equivalent form.
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CL 5-131.  Use a graph to describe the domain and range of each function or sequence below.
The function f(x) =  (x − 2)2


CL 6-126. Solve each equation for the indicated variable. 

FM − 3 = Q (for F)                                        (for r)







                                                                                                                      
CL 7-114. Write each expression below as an equivalent expression without negative exponents.
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